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9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(9) (h) (m) (n) (0) () 1
10 40 21 4 20 14
2 8 18 1 37 31 2.
7 28 19 2 10 4
9 36 106 89 67 61 3.
4 16 96 79 92 86
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(m) (n) v) (2) (e) Q) 6.
4 24 18 6 7 42
1 21 6 2 9 54 7.
10 30 27 9 6 36
60 80 21 7 2 12 8.
37 57 15 5 3 18
e}
10.
11.
In(s) | 90 | 80 | 100| 30 8| In@@ |63|45]| 9 | 36
Out(t) | 9 | 8 |10/ 3 Out(b) | 7| 5| 10| 4 .
In(k) | 49 | 32 | 58 | 44 10 ing) |10 7| 8] 5
Out(l) | 37 | 20 | 46 | 32 Out(m) | 20 | 14 | 16 | 10
In (c) 1] 2 |32]10 12) | In(y) | 15| 20| 35 | 50
Out(d) | 16 | 17 | 47 | 25 Out (2 3 4 7 | 10
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 1 11-12| 8| 0
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Function Machines - Creating Equations

Name:

Answer Key

Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
@ | m | © | ® 1 gx4=h
10 40 21 4 20 14
2 8 18 1 37 31 2. m-17=n
7 28 19 2 10 4
9 36 106 89 67 61 3  0-6=p
4 16 96 79 92 86
gx4=h m-17=n 0-6=p s mM+20=n
5 y+3=2
Input | Output 5) | Input | Output 6) | Input | Output
(m) (n) v) (2) (e) Q) 6. ex6=f
4 24 18 6 7 42
1 21 6 2 9 54 7 s+10=t
10 30 27 9 6 36
60 80 21 7 2 12 8 a+9=bDb
37 57 15 5 3 18
m+20=n y+3=z ex6=f 9 k-12=1
10. | x2=m
11 c+15=d
In(s) | 90| 80 | 100 30 8| In(@ |63|45]| 90| 36
out(t) | 9 | 8 |10 3 Out() | 7| 5| 10| 4 b y+5=z
s+10=t a+9=>b
In(k) | 49 | 32 | 58 | 44 10 ing) |10 7| 8] 5
out() | 37| 20| 46 | 32 Out(m) | 20 | 14 | 16 | 10
k-12 =1 | x2=m
In () 1|2 (3210 12) | Ingy) | 15| 20 | 35 | 50
Out(d) | 16 | 17 | 47 | 25 Out (2 3 4 7 | 10
c+15=d y+5=z
-10 [92 75] 67 42 25]17
Math www.CommonCoreSheets.com 1 111-1102 % %3 elerlsslsolalsels T
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(n) (0) () (k) () (k) 1
12 15 73 71 12 3
21 24 87 85 8 2 2.
76 79 95 93 20 5
2 5 57 55 28 7 3.
19 22 38 36 24 6
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(u) (V) (d) (e) (W) (x) 6.
4 28 30 3 24 4
10 70 90 9 36 6 7.
2 14 20 2 12 2
3 21 80 8 48 8 8.
5 35 60 6 18 3
e}
10.
11.
In(@ | 3| 7|5 9 8| In(r) | 10| 45| 50| 35
Out (h) 9 | 21|15 | 27 Out (9) 2 9 | 10| 7 12
In(d) | 22|97 | 71| 8 10) | In(q) | 69| 37 | 68 | 27
Out(e) | 38 [113| 87 | 24 Out(r) | 67| 35| 66 | 25
In(o) | 8 10| 4| 5 12) | In(n) | 93| 76 | 92 | 107
Out(p) | 16 | 20| 8 | 10 Out(o) | 80 | 63 | 79 | 94
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 2 11-12| 8| 0
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name. Answer Key
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(n) (0) () (k) () (k) 1 n+3=0
12 15 73 71 12 3 _
21 24 87 85 8 2 2. J-2=Kk
76 79 95 93 20 5 _
2 5 57 55 28 7 3 JT4=Kk
19 22 38 36 24 6
n+3=o0 i-2=k j+4=k s, UXT=vV
5, d+-10=e
Input | Output 5 | Input | Output 6) | Input | Output
(u) (V) (d) (e) (W) (x) 5 W+6=X
4 28 30 3 24 4
10 70 90 9 36 6 7. gx3=h
2 14 20 2 12 2
3 21 80 8 48 8 8. r-5=s
5 35 60 6 18 3
Ux7=v d+10=e W+ 6=X o0 d+16=¢e
0. Q-2=r
1. 0X2=p
In(@ | 3| 7|5 9 8| In(r) | 10| 45| 50| 35
Out(h) | 9 | 21| 15| 27 out(9 | 2| 9 |10]| 7 5 N-13=0
gx3=h r5=s
In(d) | 22|97 | 71| 8 10) | In(q) | 69| 37 | 68 | 27
Out(e) | 38 [113| 87 | 24 Out(r) | 67| 35| 66 | 25
d+16=e g-2=r
In(o) | 8 10| 4| 5 12) | In(n) | 93| 76 | 92 | 107
Out(p) | 16 | 20| 8 | 10 Out(o) | 80 | 63 | 79 | 94
ox2=p n-13=o0
1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
Math www.CommonCoreSheets.com 2 11-12| 8| 0
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
) (9) (t) (u) (V) (W) 1
56 61 5 10 30 21
43 48 8 16 39 30 2,
74 79 6 12 69 60
99 104 7 14 68 59 3.
21 26 9 18 23 14
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(©) (d) (r) (s (9) (h) 6.
438 30 11 1 27 9
108 90 47 37 30 10 7.
78 60 109 99 6 2
86 68 91 81 24 8 8.
39 21 92 82 9 3
e}
10.
11.
Inth)y | 7| 9| 3| 8 8| Inte |10] 8| 6| 2
Out() | 70| 90 | 30 | 80 Out(f) | 70 | 56 | 42 | 14 12
In(d) | 18| 81| 27| 72 10) | In(e | 35| 40| 10| 30
out(e€ [ 2| 9| 3| 8 out(f) | 7| 81| 21| 6
In(e) | 72 | 84| 8 | 4 12) | In() | 40| 10|57 | 54
Out (f) | 89 [ 101|105 111 Out(j) | 31| 1 | 48| 45
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 3 11-12| 8| 0




ﬂé Function Machines - Creating Equations Name. Answer Key

Write an equation to show the relationship between the input and the output. Answers
1 | Input | Output 2) | Input | Output 3) | Input | Output
) ©) ® (u) ) (W) ., f+5=g
56 61 5 10 30 21
43 48 8 16 39 30 o tx2=u
74 79 6 12 69 60
99 104 7 14 68 59 3 V-9=w
21 26 9 18 23 14
f+5=g tx2=u V-9=w 4. c-18=d
5, r-10=s
4) | Input | Output 5) | Input | Output 6) | Input | Output
(©) (d) () () (9) (h) 6. g=3=h
48 30 11 1 27 9
108 90 47 37 30 10 7 hx10=i
78 60 109 99 6 2
86 68 91 81 24 8 8. ex7=f
39 21 92 82 9 3
c-18=d r-10=s g+=3=h v d+9=e
10. e-5=f
11. e+17= f
N Iinth)y | 79| 3|8 81 Ine |10 8| 6| 2
out(i) | 70| 90 | 30 | 80 Out(f) | 70 | 56 | 42 | 14 b i-9=]
hx10=i ex7=f
9| Ind) | 18|81 |27 72 10) | In(e | 3| 40| 10| 30
Ooute [ 2 | 9| 3| 8 out@ | 7| 81| 2| 6
d+-9=¢e e+5=f
1) | Ine | 72| 8|8 | 12) | In() | 40| 10|57 | 54
Out (f) | 89 | 101 | 105 | 111 Out() | 31| 1| 48] 45
e+17=f1 i-9=]
M ath www.CommonCoreSheets.com 3 111-1102 %2 E? 07550 203 25 0T
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
() (r) (d) (e) (9) (h) 1
53 64 82 72 7 28
51 62 62 52 6 24 2,
29 40 89 79 8 32
67 78 43 33 10 40 3.
438 59 29 19 2 8
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(1) (m) (©) (d) () (r) 6.
77 89 9 3 96 81
71 83 18 6 83 68 7.
14 26 30 10 68 53
8 20 12 4 47 32 8.
95 107 15 5 75 60
e}
10.
11.
In(k) | 85| 27| 17 | 64 81 Ine | 8 |68]| 83|82
Out(l) |105| 47 | 37 | 84 Out (f) 1 (61| 76|75 12
In(n) | 63| 14 |101| 52 10 iInw | 9| 2| 5] 6
Out(o) | 61 | 12 | 99 | 50 Out(x) | 63| 14 | 35 | 42
In(s) | 20| 10| 12| 4 12) | In(0) | 59| 63| 79 | 41
Out(t) |10 | 5 6 2 Out(p) | 63 | 67 | 83 | 45
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 4 11-12| 8| 0
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1)

4)

7)

9)

11)

Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
@ | o @ [ @ @ | ¢ 1. _Qgq+1l=r
53 64 82 72 7 28
51 62 62 52 6 24 ,, d-10=e
29 40 89 79 8 32
67 78 43 33 10 40 3 gx4=h
48 59 29 19 2 8
q+11=r d-10=¢ gx4=h s 1+12=m
5, c+3=d
Input | Output 5) | Input | Output 6) | Input | Output
(1) (m) (©) (d) () (r) 6. (-15=r
77 89 9 3 96 81
71 83 18 6 83 68 7. k+20=|
14 26 30 10 68 53
8 20 12 4 47 32 8. e-7=f
95 107 15 5 75 60
| +12=m c+3=d q-15=r 0. n-2=o0
0. WX7=Xx
11. s+2=t
In(k) | 85| 27| 17 | 64 8| Ine | 8 |68|83] 82
Out(l) |105| 47 | 37 | 84 Out (f) 1 |61|76 |75 1 o+4= p
k+20=1 e-7=f1
In(n) | 63| 14 |101| 52 10 iInw | 9| 2| 5] 6
Out(o) | 61 | 12 | 99 | 50 Out(x) | 63| 14 | 35 | 42
n-2=o0 WX 7 =X
In(s) | 20| 10| 12| 4 12) | In(0) | 59| 63| 79 | 41
Out(t) |10 | 5 6 2 Out(p) | 63 | 67 | 83 | 45
s+2=t o+4=p
- 2 75] 67 42 25]17
Math www.CommonCoreSheets.com 4 111-1102 % %3 elerlsslsolalsels T
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|

1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(x) v) () (@) (©) (d) 1
2 20 6 24 41 42
8 80 2 8 72 73 2,
6 60 9 36 26 27
7 70 4 16 67 68 3.
4 40 8 32 83 84
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(©) (d) (e) Q) (e) Q) 6.
50 10 90 10 36 6
35 7 18 2 30 5 7.
15 3 8l 9 42 7
45 9 72 8 24 4 8.
25 5 45 5 60 10
e}
10.
11.
In(x) | 16 | 80 | 24 | 64 8) 91 | 19 | 67 | 59
Out (y) 2 110| 3 8 Out (t) |110| 38 | 86 | 78 12
In(q | 5 |10 3 | 8 10| inm) | 8| 6| 7 | 10
Out(r) | 10| 20| 6 | 16 Out(n) | 56 | 42 | 49 | 70
In(n) | 43| 60 | 37 | 80 12) 54 | 49 | 21 | 103
Out(o) | 27 | 44 | 21 | 64 Out(s) | 46 | 41 | 13 | 95
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 5 11-12| 8 | 0




ﬂé Function Machines - Creating Equations Name. Answer Key

Write an equation to show the relationship between the input and the output. Answers
1 | Input | Output 2) | Input | Output 3) | Input | Output
() ) ® | @ © (d) 1. xx10=y
2 20 6 24 41 42
8 80 2 8 72 73 2. px4=q
6 60 9 36 26 27
7 70 4 16 67 68 ;3 C+1l=d
4 40 8 32 83 84
xx10=y px4=q c+1=d 4. c+5=d
5 e+9=f
4) | Input | Output 5 | Input | Output 6) | Input | Output
(c) (d) (e) (f) (e) (f) 6. e-6=f
50 10 90 10 36 6
35 7 18 2 30 5 7 X+8=y
15 3 81 9 42 7
45 9 72 8 24 4 g. S+19=t
25 5 45 5 60 10
c+5=d e+9=f e+6=f . qx2=r

100, Mx7=n

11. n-16=o0

Nl Inx) | 16|80 | 24| 64 81 In(s) | 91| 19| 67|59
Out(y) | 2 10| 3 | 8 Out(t) [110| 38 | 86 | 78 o  r-8=s
X+8=y s+19=t
91| In(q | 5|10 3| 8 10 iInm) | 8| 6| 7|10
Out(r) | 10| 20 | 6 | 16 Out(n) | 56 | 42 | 49 | 70
gx2=r mx7=n
1) | Iin(n) | 43| 60 | 37 | 80 12) | In(r) | 54| 49 | 21 | 103
Out(o) | 27 | 44 | 21 | 64 Out(s) | 46 | 41 | 13 | 95
n-16=o0 r-8=s
1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
Math www.CommonCoreSheets.com 5 11-12( 8 | O
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(e) Q) (r) (s (m) (n) 1
100 10 60 52 2 18
30 3 58 50 7 63 2,
70 7 91 83 8 72
40 4 76 68 10 90 3.
50 5 24 16 6 54
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
v) (2) (r) (s (V) (W) 6.
29 41 3 17 92 90
49 61 59 73 59 57 7.
32 44 54 68 10 8
84 96 93 107 73 71 8.
15 27 33 47 20 18
e}
10.
11.
In(c) |27 |8 | 3| 1 8| In(p | 92| 76| 40| 25
Out(d) | 28 | 85 | 4 2 Out(g) | 89 | 73 | 37 | 22 12
In(d) | 56| 49 | 63 | 14 10) [ In(f) 719 | 5|6
Out (e) 8 7 9 2 Out(g) | 28 | 36 | 20 | 24
In(f) | 36|35 | 62| 82 122) | In@p) | 52| 5|79 1
Out(g) | 19| 18 | 45 | 65 Out(g) | 57| 10| 84 | 6
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 6 11-12| 8| 0




ﬂE}1 Function Machines - Creating Equations Name. Answer Key

Write an equation to show the relationship between the input and the output. Answers
1 | Input | Output 2) | Input | Output 3) | Input | Output
© () () 0 m | (M . e+ 10=f
100 10 60 52 2 18
30 3 58 50 7 63 2 r-8=s
70 7 91 83 8 72
40 4 76 68 10 90 3 mMx9=n
50 5 24 16 6 54
e+10=f r-8=s mx9=n s Yyt+12=7
55 r+14=s
4) | Input | Output 5) | Input | Output 6) | Input | Output
(y) (2) (r) () (V) (W) 6. V-2=W
29 41 3 17 92 90
49 61 59 73 59 57 7. c+l=d
32 44 54 68 10 8
84 96 93 107 73 71 s. P-3=¢
15 27 33 a7 20 18
y+12=z2 r+14=s V-2=w 9. d+7=e
0. fx4=g
n f-17=g
Nl In |27|8] 3|1 8| In(p) | 92| 76| 40| 25
OQut(d) | 28 | 8 | 4 2 Qut(g) | 89 | 73 | 37 | 22 1 p+ 5= g
c+l=d p-3=q
9| Ind) | 56|49 | 63| 14 0 in) | 7| 9| 5| 6
Out (e) 8 7 9 2 Out(g) | 28 | 36 | 20 | 24
d+7=e fx4=g
1| In¢f) | 36|35]|62]| 82 122) | In@p) | 52| 5|79 1
Out(g) | 19 | 18 | 45 | 65 Out(g) | 57 | 10 | 84
f-17=g p+5=q
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 6 11-12| 8| 0
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
() (@) () (@) (r) (9 1
45 9 48 6 51 95
15 3 80 10 74 78 2.
20 4 40 5 1 5
10 2 56 7 71 75 3.
25 5 72 9 5 9
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
() (k) (n) (0) (x) v) 6.
0 96 75 66 10 2
39 45 31 22 14 6 7.
53 59 67 58 53 45
37 43 54 45 18 10 8.
54 60 57 48 56 48
e}
10.
11.
In(s) | 12| 24 | 20 | 32 8| In@g | 7] 9| 5] 3
Out (t) 3 6 5 8 Out(p) | 70 | 90 | 50 | 30 12
Inuy | 9| 71| 8| 5 0 in@) | 2| 72| 12|71
Out(v) | 81 | 63| 72 | 45 Out(m) | 29 | 79 | 18 | 78
Inc) | 4 |57] 93| 9 12) inp) | 2| 5| 8| 3
Out(d) | 23 | 76 | 112 | 28 Out(g) | 14 | 35 | 56 | 21
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 7 11-12| 8| 0
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1)

4)

7)

9)

11)

Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
® | @ ® | @ () © 1. __P*5=¢
45 9 438 6 51 55
15 3 80 10 74 78 2. p+T8=¢(
20 4 40 5 1 5
10 2 56 7 71 75 3. I+4=s
25 5 72 9 5 9
p+5=q p+8=q r+4=s 4, j+6=K
5, n-9=o
Input | Output 5) | Input | Output 6) | Input | Output
() (k) (n) (0) (x) (v) 6. X-8=y
90 96 75 66 10 2
39 45 31 22 14 6 7. s+4=t
53 59 67 58 53 45
37 43 54 45 18 10 g. 0x10=p
54 60 57 48 56 48
j+6=k n-9=o X-8=y 9. ux9=yv
10. | +7=m
11 c+19=d
In(s) | 12| 24| 20| 32 8| In@ | 7| 9| 5] 3
Out (t) 3 6 5 8 Out(p) | 70 | 90 | 50 | 30 1 p X 7 = g
s+4=t ox10=p
Inuy | 9| 71| 8| 5 0 in@) | 2| 72| 12|71
Out(v) | 81 | 63| 72 | 45 Out(m) | 29 | 79 | 18 | 78
ux9=v l+7=m
Inc) | 4 |57] 93| 9 12) inp) | 2| 5| 8| 3
Out(d) | 23| 76 | 112 | 28 Out(q) | 14 | 35 | 56 | 21
c+19=d px7=q
-10 [92 75] 67 42 25]17
Math www.CommonCoreSheets.com 7 111-1102 % %3 elerlsslsolalsels T
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(n) (0) (©) (d) (e) Q) 1
50 65 8 26 10 5
30 45 76 4 4 2 2,
6 21 11 29 12 6
78 93 33 51 20 10 3.
17 32 31 49 16 8
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(n) (0) (m) (n) () (k) 6.
5 20 45 9 72 9
7 28 30 6 64 8 7.
6 24 35 7 24 3
2 8 15 3 40 5 8.
4 16 50 10 32 4
e}
10.
11.
In(t) |120| 20| 71 | 17 8| Inth) | 2| 6| 9] 8
Out(u)y | 95| 5 | 56 | 2 Out (i) 14 | 42 | 63 | 56 12
In(r) | 20 | 98 | 32 | 87 10) [ In() 6 | 2719
Out () 8 |8 | 20| 75 Out(j) | 36| 12 | 42 | &4
In(w) | 63| 68 | 61 | 14 12) | In(s) | 88| 97 | 112]| 63
Out(x) | 56 | 61 | 54 | 7 Out(t) | 74 | 83 | 98 | 49
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 8 11-12| 8| 0




ﬂé Function Machines - Creating Equations Name. Answer Key

Write an equation to show the relationship between the input and the output. Answers
1 | Input | Output 2) | Input | Output 3) | Input | Output
(n) (0) (©) (d) (e) (f) 1. n+15=0
50 65 8 26 10 5
30 45 76 94 4 2 , c+18=d
6 21 11 29 12 6
78 03 33 51 20 10 3 e+2=f
17 32 31 49 16 8
n+15=0 c+18=d e+2=f 4. nx4=0
5 m-+35=n
4) | Input | Output 5) | Input | Output 6) | Input | Output _
(n) (0) (m) (n) () (k) 6. j+8=k
5 20 45 9 72 9
7 28 30 6 64 8 ;7 t-15=u
6 24 35 7 24 3
2 8 15 3 40 5 g. hx7=i
4 16 50 10 32 4
nx4=o0 m+5=n j+8=Kk 9. r-12=s
10. | X6=]
11 W-7=X
Nl Intt) |110] 20 | 71 | 17 8| Inth) | 2| 6| 9| 8
Out(u) [ 95| 5 | 56 | 2 Out(i) | 14 | 42 | 63 | 56 n  S-14=t
t-15=u hx7=i
9| In(r) | 20| 98| 32| 87 10) [ In() 6 | 2| 7|9
Out (9) 8 [86 | 20| 75 Out() | 36 |12 | 42 | 54
r-12=s i x6=]
1) | In(w) | 63| 68|61 14 12) | In(s) | 88| 97 |112] 63
Out(x) | 56 | 61 | 54 | 7 Out(t) | 74 | 83 | 98 | 49
W-7=X s-14=t
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 8 11-12| 8| 0
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1)

4)

7)

9)

11)

Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
(u) (V) (W) (x) () (k) 1
10 80 4 16 74 87
6 48 2 8 96 109 2,
8 64 3 12 6 19
2 16 10 40 33 46 3.
7 56 8 32 91 104
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(W) (x) a (b) () (r) 6.
40 4 71 51 10 2
50 5 100 80 25 5 7.
20 2 77 57 40 8
100 10 55 35 30 6 8.
70 7 108 88 20 4
e}
10.
11.
In(t) | 3 |10] 7| 6 8| In(p) |8L|19] 8 |91
Out (u) 9 | 30| 21| 18 Out(g) | 93 | 31 | 20 | 103 12
In(u) | 21 | 98 | 103 | 84 100 | InG) | 28| 16| 11| 23
Out(v) | 4 | 81|86 | 67 Out(k) | 37| 25 | 20 | 32
In(j) | 18 | 54 | 45 | 36 12) | In@) | 3| 63| 42| 21
out(k) | 2| 6 | 5| 4 out() | 5|1 9| 6 | 3
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 9 11-12| 8| 0
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Function Machines - Creating Equations Name. Answer Key
Write an equation to show the relationship between the input and the output. Answers
1 | Input | Output 2) | Input | Output 3) | Input | Output
(u) (V) (W) (x) () (k) 1 ux8=v
10 80 4 16 74 87
6 48 2 8 %6 109 2. WX4=X
8 64 3 12 6 19
2 16 10 40 33 46 3 J+13=Kk
7 56 8 32 91 104
ux8=v W x 4=Xx j+13=k s W+10=X
5, a-20=b
4) | Input | Output 5) | Input | Output 6) | Input | Output
(W) (x) (a (b) () Q) 6. q+=o=r
40 4 71 51 10 2
50 5 100 80 25 5 7. tx3=u
20 2 77 57 40 8
100 10 55 35 30 6 s. pt+12=q
70 7 108 88 20 4
w+10=x a-20=b q+5=r 9. u-17=v
0. J+t9=K
n  J+9=K
N1 In¢t) | 3|10 71| 6 8| In(p) | 81]|19]| 8 | 91
Out (u) 9 (30| 21| 18 Out(q) | 93 | 31 | 20 | 103 1 | =7= J
tx3=u p+12=q
9| In(u | 21| 98 |103| 84 100 | InG) | 28| 16| 11 | 23
Out (v) 4 | 81| 8 | 67 Out(k) | 37 | 25 | 20 | 32
u-17=v j+9=k
)| InG) | 18| 54| 45| 36 12) | In@) | 3| 63| 42| 21
Out (k) 2 6 5 4 Out (j) 5 9 6 3
jT9=k i+7=]
-10 [92]83]75] 67 42]33]25]17
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Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
) (9) (s (t) (h) (i) 1
5 7 5 45 4 7
35 37 3 27 9 97 2,
40 42 4 36 95 98
58 60 7 63 6 9 3.
94 96 2 18 22 25
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(m) (n) (n) (0) a (b) 6.
3 18 89 73 14 18
2 12 77 61 2 6 7.
9 54 27 11 80 84
6 36 98 82 20 24 8.
7 42 96 80 65 69
e}
10.
11.
In(y) |103| 86 | 91 | 26 8| In@ | 4| 2|10] 7
Out(z) | 90 | 73 | 78 | 13 Out(b) | 16 | 8 | 40 | 28 12
In(y) | 10 | 30 | 45 | 40 0 inn) | 9| 4| 3] 8
Out (2) 2 6 9 8 Out(o) | 27| 12| 9 | 24
In(p) | 89| 48 | 29 | 62 12) | In(y) | 70 |100| 50 | 20
Out(g) | 70 | 29 | 10 | 43 Out (2 7 110| 5 2
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
) ) (S (t) (h) (i) . f+2=¢g
5 7 5 45 4 7
35 37 3 27 94 97 2. SX9=t
40 42 4 36 95 98 _
58 60 7 63 6 9 3. h+3=i
94 96 2 18 22 25
f+2=g sx9=t h+3=i 4. mx6=n
5 n-16=o0
Input | Output 5 | Input | Output 6) | Input | Output
(m) (n) (n) (0) (a (b) 6. a+4=>b
3 18 89 73 14 18
2 12 77 61 2 6 7. y-13=z
9 54 27 11 80 84
6 36 98 82 20 24 8. ax4=>b
7 42 96 80 65 69
mx6=n n-16=o a+t4=Db 9. y+5=1z
0. hx3=0
un  p-19=¢
In(y) |103| 86 | 91 | 26 8| In@ | 4| 2|10] 7
Out(z) | 90 | 73| 78 | 13 Out(b) | 16 | 8 | 40 | 28 L y+10=7z
y-13=z ax4=>b
In(y) | 10 | 30 | 45 | 40 0 inthy | 9| 4| 3| 8
out@ [ 2| 6| 9| 8 Out(0) | 27| 12| 9 | 24
y+5=z nx3=0
In(p) | 89 | 48 | 29 | 62 12) | In(y) | 70 | 100| 50 | 20
Out(q) | 70 | 29 | 10 | 43 Out (2 7 110 | 5 2
p-19=q y+10=2z
1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
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